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Q.P. Code :02170

[Time: 21 Hours] ‘ [Méf’kst?’E]
Please check whether you have got the right questlon paper
N.B: 1. All questions are compulsory subject to mternal Ch0|ce
2. Figures to right indicate full marks. gt

Q.1 Answer the following. (any two) g

a. Define Risk management. Explain the process of risk management
b. Explain the different tools used to measure quantitative risk ' :
c. Calculate expected rate of return & standard devuatlon of ABC Ltd. For the followmg :nformation

Situation | _ Probability Stack A (Rethm %) Stpck B (Return %)
Normal ‘ L RSSO Ly ey { i 239 o
Recession 0.2 I DRI ) O S A3
y Boom 0.5. S [ R AT T
Q.2 Answer the following. fanytwo) .~ . - P S 5 SR : =) 15
a. Explain the various structural models of swap. £ AT :
b. Explain the ERM matrix with Diagram -
c. Define Arbitrage. Explaln the types of arbitrage techmques
Q.3 Answer the following. (anytwo) AT ; : : - 15
a. Define corporate’ governance. Explain the. beneﬂts of corporate governance
b. Define Risk assurance Explaln the challenges of risk assurance
c. Briefly discuss Risk & Stakeholders. ;
Q.4  Answer the following (anytwo)_ ; ¥ 3 LA oS 15..
a. Discuss the powers, functions & duties of IRDA. =
b. What s Reinsurance? What are the different types of reinsurance?
c. Expected losses are glven in the table below
Loss value (in Rs ). Yo | Probability
/ 200,000 =~ S@ LTS AR S My on
10,000 B RLTG 0.08
oo S o L o e R 0.9

e oo o

Find the fair premiumif =

Policy b_rovide full coverage - :

Under writing costs = 10% of pure Premium
Claims are paid at the end of year

Interest rate = 10% ‘

Expected‘claim proce’éslng‘costs =Rs 600
Fair profit = 5% of pure premium

P.T.O
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Q.5 Case study &
Evaluate the performance of funds M,N & market port folio from the follo

b2
form the past 6 months &

~

Month (return %) April

Fund M ~3.25
Fund N 2,50
Market portfolio 1.00

BCECF6A83B19 137F598FE67F95745A29
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e N.B: 1. All questions are compulsory.
& 2. Marks are indicated to the right.

All questions are compulsory subject to internal choice: (any 8) W
a) skills are required by top managem@ht o B b
a) Conceptual b) Human c) Technical ey

b) The process of management is 4n r\atuk‘f
a) Temporary b) Continuous c) 0ne t:me

c) suggest that there shoujé he afp#ace fdn everyt‘Hm
a) Equity b) Order «c) Dismpiine 3

d) A professional normallychargf- b
a) Fees b) Fair ) Profit

e} Scientific managementis ex med bv 3 - ¥
a) Henry Fayol b) Hem‘y Mintzberg c}F W Tavlor\ &

\ \3
f} Peter Drucker populartSed the cbncept of
a) Game theow 2 Bj MBO cLQuewng theory

vﬁ[&“sta{e?nents that gmde dECISIQn makmg

g) -
a) MISSIOI‘I & \_)'-‘vﬁlgh tLPohcms
h) ; " mefans’ to confenar to transfer or to asmgn

a} Res*ppnsibrlity‘-m Authority c) Delegatlon

MBI s-an vaiuattdrmfmanagement as a whole
;Y Manageme:;t A\bl MBO c) Mt$

07

c) ,_\--’.M@UaigeMQn(‘is@%I pervasive

8. \-ﬁ’E&é arg%ahﬂi&pg betWeen line and staff.
g) & \bumeahcfath‘. le'aders follows rules & regulations in totality.
‘ & h} S‘ban,.of,m{}i’ml dégldes appropriate number of subordinates managers can manage.
S8 i} Su@,r cellis mxﬂmple of green technology.
Rl e .“hﬁthurjty“;:m never be delegated.

\\v

(P.T.0)
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Q.2 A Define management. Explain the characteristics of management.
B Explain the concept of POSDCORB

OR

organization?
D What is planning? What are its advantages

Q.3 A.

B

L

D
Q.4 A  “Coordination is the essence of management'f _l-}»piam.

B Write a detailed note on delegation of autqﬁrlw' 07

C  Briefly explain the ‘Control Process.’ \-_,;'-f":-”“\' % AERITA 08

D  Discuss the need for CSR (CooperateSngﬁlx‘Resgénsfbjﬂm. 07 °
Qs a) State the ‘Managerial Grid’ Mdde]? SO 08

b) Explain the 1mportanc§.qfde«:|§|bn nﬁ i
(-r‘ \._ g
Write Short Notes on: (Any:ij* S 15

a) MBO oy
b) Green Mana e“men b
c) - Gralcunasthbqw"
d) Bramstormmfé 3

12

L3

BCECF6A83B19137F598FE67F9SFFCFDC
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TN

N.B

A Match the following (any 8)

[tlme:zl/zhours}

1. Allquestions are compulisory
2. Figures to the right indicate full marks

o4 )oYy

a. Ohé'm’émPQnévqté

B State whether the statements are true or*als ] ,(a
1. Social culttraffactors. changé grbduaﬂy |
. Transport creﬁtes*tune ut:htv e

3. WTO.js nﬁtfoncemed with trade libe‘rayiaﬂon b S
4. Public sectors are also. cai!ed as cooparaﬂ% saff:tef g

5
6
52y

india has multnparﬁyjystem o -
. ExXport promoﬁoh is one ofthe objec‘ttve af trade pblicy
“Swot ‘minimizes the wegknress in buslness Ay
tnternai facto:s gre aLso know an exogenous factors
9.0 Jerro:;st éttacks ham) pérs glphat envlronment
10. Mc Donald’s is-an exampie af ffanc“hising

?°

»

What is: buslnéss? E’xpl"fn its’ ?eatureﬁ
: State & explam the mternal fan!ors wnstﬁutmg business environment.
o > Fe g OR

o OF 35

C EXplam the vadoué” types o?polmoil mstitutlons in detall

......

: S V‘What iSJolht sectorf How ddes It lmpact Indian economy?
B -ertaa bnef nOte on ecanomlc environment.

& T = OR

3 © Diswss the Impac:t oFfore:gn culture on Indian business,

D LExplam the importanCe of social responsibility of business.

A Expla}n in detall Michael Porter’s Five Force Analysis.

687035EEB3FB9411F0E1161529BB580A

wv

[marks 75 ]

1. Primary industry

2. Extractive industry b Phﬂd;nph?afeﬂuahty N

3. Cooperative society c.. Participative n mgnagement‘ P

4. Socialism & d Expor‘t Hoyses . SO Cen e

5. Responsibility towards : e Protectadnta’investmetnts 1
employees .;,‘:’, i : IR

6. _Indirect exporting s f “Akﬂculture REIGHE

7. TRIPs : ¥ S qu&ﬁendér NS

8. TRIMs . S _

9. Demographic enwronmant R

10. Focus strategy i

ey
<

o



B Discuss the features of globalization.
D How can foreign firms enter global market?

C Explain the advantages of WTO.

Q.5

B Explain role and functions of FDI.

(any 3)

Write short notes on

Corporate Governance

Aids to Trade
Social Audit

MNCs

1
2.
2
4,

(AL APREE R T STV DRt @ Sl O ZRLET SN TN S e B 2

687035EEB3FB9411F0E1161529BB580A
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Please check whether you have got the right

1. All questions are compulsory.

i
=

2. In Q.1 attempt both the sub-parts A & B.
3. Figures to the right indicate marks.

4. Use of non-programmable calculator is

Attempt both subparts A & B
A)  Write the appropriate answer (Any Eight)
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odically settin

1. Afund formed by per

is kn

replacement of a depreciating asset

ety %
Y G
s 75
e
o

- £
E3E
©
SEgs
~ 5
£ ol
=i T N
=R
QoE=S
v £ o €
e WUO0GK
CR-ECES)

2.

b) Yearly

c) Monthly
d) Six Monthly

Is an

.

3. A

oG Y Bl
n.ﬂcw LA
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w
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.
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B is pxn. then the order of matrix AB is:

‘ its determinant is

spect to x
respect to x

ecttox

Y
Tes
v

e

ith

¥

o
ne of the
ety
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'@rivative is called
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Ly
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order derivative
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-deriva
> Ant

ry derivative

p =
7

T A
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Turn over
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8.

10. lnterpolatlon is the process of:

In Newton’s Forward difference formula, what is u
a) u=(x-xo)/h
b) u=(x-x,)/h
c) u=(x-x%)/h
d) u=(x-h)/h

b) obtaining value of f(x) at points beyond, erthe,r\.e

c) both of the above o Q* S
d) none of the above \Q‘é‘l‘%‘“’x '\f?"._ P
gy st & S
B) State whether the statements are True or False. (Wi\ &@ &% <‘,< ) ,t:\& _

1. Given P=Rs. 1500, N=3 years, |=Rs. 195, t\&\l_ﬁi{n
2. The point where market demand equals’ market
3. An annuity in which the number of
4. When a matrix is its own transpose,
5. The value of a determinant is u
6. In input-output analysis, (I-A) i
7. If total cost is known, then th
8. =n(n-1) ! SRR
9. At a stationary point, —Q&ﬂ;@ 3
10. Newton'’s interpolat 1 Me

variables are varying, ;‘“cf‘q::

o
CeA S
Q.2 A) Find the equilibrium qwﬂ
a. Given suppl\gﬂd’
'\'
b. Given supﬂgﬁ ?q@d&\\@h@a& e ou 5
..\ 4-."5 ,_ 0 - S N
B) Vista mdustrteﬁ“cfe@fec} ﬁ’ 1o Q A\ ,\ thhchméﬁ%vjmia new one in 8 years. The estimated cost 0’
of the new mgﬁmél%@@\aﬂlﬁm‘;i@ﬁ" “ i‘hé‘ mh'rfated scrap value of the present machinery
after 8 yea?\sx‘\ﬁ » é \hﬂant"?miqt ;ﬁ&\%@unt;tu}q‘aeposned in the fund every quarter at 9% p.
)- 7, %] 8 \
e, ‘Q}", t&e\ghkrp V ’;‘ f@&:\\\ ) R
SR P
ST IARA S,
NS !
Q.2 P) 'ﬁt,@féﬁf,ghd, imple interest on a certain principal amount for 2 years 0Ol

I;‘q}{irmclﬁl for 4 years is Rs. 3,840. Find the principal amount and

~\v’h& "'

Mf-r\-v‘\ ‘s./"{

. -wﬁmrﬁi\ p@ﬁg&ie\ﬁgﬁh@wp ,géc{sr economy is given below:

P odublqt ,seq{v e "Qogiﬂghlmg Sector Final Demand I
¥ § S N Sz |
S0 15 65 2

; 25 20 75 :

Turn over

21B78D2F7E4B051D23199DFD41CFF881



N.B:

Q.1(a) Fillin the blanks: (ANY 8) SN f‘ &K
1. A person shall not be qualified for appomtment as the pr “I ng-gfﬁqer of xhe na ' dh‘
unless he is or has been a judge of
The decision of an authority in an industrial dlspl{fé zs’knbw\ ass

3. Any’person who has attained an age of

™~

4. Statutory canteen facilities are to be pr

factory. .‘ (V6% S 9

5. means cessation of work by a hody of persons in'a

; 6. Créches should be provided in a ﬁﬂt;o‘mwhere more. thefn‘ SO
employed. AN R ;

7. When an employee is incapaﬂh@&u&dmnggé ny

accident, it is known as n

P

A s Mg
._. \1 ..n- “

9. Minimum ,\,\‘@axsof éontn')buto:y Mcei s r.équi
pension scheme; . > 0 Vo

10. The amount quratuitgtﬁa?aﬁfqiqsaq\‘employe’e ;half' n;ot\exce

Q.1 (b) State whether true,w»ﬁisamjv Jj‘,__;'
University ls%‘n‘mdustsyandﬂ&qrp(eh}er em

(07)

=

pToyed in suthu pwefs:ty is a workman.
2. The expresslan ﬂaﬂe‘hmén‘uhde?‘ the trat!e uabn acfmclubes both employers and workers
orgamzat:om e ot 57 O e
3. Providing s&tihgh@ft&qu‘fqp w orkers is'a'saf
. Intase théﬂ}pcraw disab@wn&a;haifmantlﬂ? payﬂ-uent of the sum equivalent to 25% of
maﬂfhlywaggs efthé wmfgman%asjo be paid, -
3 T\heem lcryee@com’ﬁensaﬂqn act 1923 ti‘qeslnbféppiv to persons employed in plantations.
6 Benénﬂqnt bemﬁﬁ npment tbjheﬁEﬁeﬁdaﬁt of an insured person who dies as a result of
emﬂkjmn m \\ .:\qj ; :
R rar ijelegat E&uh@tﬁuﬁa diaceased\@Wner is an employer under employees provident fund act.
R ' Ndf ‘efcﬁn. @ibasg& gnzhy emplbyga person who is under the age of 15 years.
-7 9 The banus §  istobepa dlnqtdf\ the dvailable surplus.
105:,§r§thttv pptrqqu]g‘éd:fobgﬁgldftb employees working in seasonal establishment.

Answer the"foﬂbwm;rk R L
wht a?'e%evanaﬁs}rmth‘pds‘for the settlement of indust
;\d o i

-

rial disputes under the industrial (08)

(07)

(08)
dustrial Disputes Act?

hat\\arﬁhé‘bbjects on which general funds of a trade union may be spent? (07)

8913A891E5164E8F2A52972FFD8B1C20



Q.3

Q.4

Q.4

Q.5

Answer the following: X
a. State the provision of the factories act, 1948 with regard to _“Ia‘ealiﬁ

b. Explain the rules regarding amount of compensation under‘«ﬂn&

OR ,

a. Define Factory. What are the general duties of occuple“i*? S 3

b.  Explain the rules regarding employer’s liability for ce \, @ﬂ
Act. % 'b'\:“p\ \Qﬂg

Answer the following: Yo S )
a. What is the different benefits payable unde‘r(ﬁgé“mpl éma~m\te" h}uta
b. Discuss provision for non refundable w@th%ﬂﬁl‘gmf‘accaunﬁa

‘\

a. What is contribution? Explain dlﬂ’e

b. Explain Employee Deposit Linked @t;q;:* he
Pt ,}‘ % 3
Answer the following: Sotul L j

y,,

L e Vo L

a. Discuss the provision of thg R@y;neﬁlc? Vi e&‘ 1936 wrtbfegarm‘aeﬂl.tﬁipns which are (¢

permassnble under paym

b. “'ﬂifmﬁm and maximum (¢
Write Short Notes on P{kﬂ!}‘.ﬂ : (1
a. Forfeiture ofEG’;mprty
b. Retrenchméat
Manuchtuﬁ
1)

8913A891E5164E8F2A52972FFD8B1C20
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[Time: 2%/, Hours]

5 Please check whether you have got the rlght questionﬁapér' s
3 N.B: 1. All questions are compulsory ¥
3 2. Figures to the right indicate full marks.

1. A. Fillin the blanks by choosing the correct option (any 08)

(Q i) Inthe state of , the number of farmers sume"is thq h:g“ba
© (Bihar, Orissa, Maharashtra) % ¥ P FLAL S
ii) As per the new industrial policy, 1991, licensing i is requ réd qnfy ﬁ“\ e N N " tries
(five, six, seven) ; 2,,
-iii) rights aim at personal good of an m‘dwndyal% ‘e!! a"k that of tﬁe
(¢ ( Fundamental, Natural, Religious) 4 ‘ > g <
iv) Human rights have appllcatlon. & }
(Limited, Universal , Maximum)
(’ v)] The___ isa layer of gases surroun@hg our pfinet
(Hydrosphere, Biosphere, Atm I@rg) A
vi) Acid rain is one of the harmful ef@q"- o
(« (Air, Land, Water)
vii) means pre-judgemmg
(« (Violence, Stereotypes, P“re;udf:q)‘
| wviii) arises when rec
‘ (Anger, stress, frustratiom A o
taR helps to c{evelap the powgr éf mncentrat:p >
(Meditation, soq:félﬁuppart,ppyslcatexeruse] g

x) The ﬁg&d@ lig'at the i gheSt fevel of the\hlerarchy df Ma\slow s Need Hierarchy Theory.
(Esteem, chial seffsactualizatlén) X

1) State whethﬁrth fquowingsfaterﬁen’fsa rg';T,r'“‘ﬁe pf-EaE_é{@{ﬁ?) 07
i) Forced mrgrétlbhmay alsd he cauéd a‘sforch drSpjacement
i) Madeﬁnmmunmaixm expensive. «aﬁn"tqmﬁfex 5
) iii) FreQdom  of speech ;nd exprgssmqmsy also’ mt[ude defamatlon
iv) -The fundaméntai»ug&ts area abso;u_te 4
V) Naturalenvironmen _p,rQVngkwemmbiasourmg of energy
Vi) "The cqmposulen of enwranment is the same: EVerywhere
i) ‘Reggonahsm is th&bnly géuﬁ&“o;ﬁ‘aggres;}an ‘and violence
s vﬂdﬂ'gpe B pquonah'ty gene«raliy engagés In instrumental aggression
i ’. ix) Smaothmﬂgter&tg coﬁ’inmdat}ng Qtﬁer party’s interest
X) Winwvm strategy isto‘ 'nNe a pf‘obl’em and not to shift the blame an other

4 A

. , \ _‘ g:& i'f's‘ causes and effects. -
o~ «'ﬁ ‘..’,w_:\l\"».- OR
B}‘eﬂY ﬂesoribe the I’OIE of corgt)rate farming in India.

3 ‘Def‘neHum,aﬂ righfh?uescnbe the significance and characteristics of human rights. 15

m & : OR
“Enwrenmgnt is a natyral capital, connected to the quality of human life”. Comment.

" - ) g

(P.1.0)
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